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ColR# m 7.6
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# % 1 # TR = EREREETEHE CI- N
S I P R avy)—PEREL TARZ 7V IR 4
CCo) [ #H3r | ClA) |FF I & ¥ Blsr
No-0 0.137 0.500
No-0+2.0 2.0] 0210 0.17 0.3] 0.500 0.50 1.00
No-1 180 | 0.168 0.19 3.4 0.500 0.50 9.00
No-2 20.0 | 0.048 0.11 2.2 0.500 0.50 10.00
No-3 200 | 0.117 0.08 1.6 0.500 0.50 10.00 |
& ia 60.0 7.6 30.0
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E(SE) [ B|5r | FuD) | ¥J|5L bt | DA G5xt
No—0 0.521 0.678 0.056

No—0+2.0 2.01  0.634 0.58 .16 | 0.511 0.59 .18 | 0.056 0.056 0.112
NO-1 18.00{  0.310 0.47 8.46 |  0.441 0.48 8.64 | 0.056 0.056 1.008
NO-2 20.00{  0.667 0.49- 9.80 | 0.542 0.49 9.80 |  0.056 0.056 1.120
NO-3 20.00f  0.260 0.46 9.20 1 0.439 0.49 | 9.80 | 0.056 0.056 | 1.120 |
& 2 60.0 28.6| 29.4 3.4
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B A | s 28
Wl [ ¥ @ w2 1 OB ] W3 | ¥ wae [ B
No-0 0.500 0,050
No-0+2.0 2.0 0.500| 0500 1.000| 0.050]| 0.500| 1.000
No-1 180 0500 ©.500| 9.000] 0.050] 0.500] 9.000
No-2 20.0 | ©0.500 | 0.500 [ 10.000 | 0.050 | 0.500 [ 10.000
No-3 200| 0500 0.500| 10.000] 0.050 | 0.500} 10.000
& 3 60.0 30.00 30.00




